
    

wkvb N?;N g/gowkvb N?;N g/gowkvb N?;N g/gowkvb N?;N g/go    
ftÙk&;zrhs(spbk)ftÙk&;zrhs(spbk)ftÙk&;zrhs(spbk)ftÙk&;zrhs(spbk)    

Ù/Dh&Ù/Dh&Ù/Dh&Ù/Dh&X 

g/go&fbyshg/go&fbyshg/go&fbyshg/go&fbysh    
;w?;No&gfjbk;w?;No&gfjbk;w?;No&gfjbk;w?;No&gfjbk    

;wKL 3;wKL 3;wKL 3;wKL 3----xzN/xzN/xzN/xzN/                                                                                                nzenzenzenze----50505050    
Gkr&Gkr&Gkr&Gkr&I 

fJZe-fJZe nze d/ 10 t;s{ fBÙm(Objective Type) gqÙB gZ[S/ ikDr/. fJBQK dk T[so fJZe-fJZe bkJhB ftZu d/Dk 
j't/rk. fJj gqÙB bkiwh jB. 
 1H spb/ dk nftÙeko fe; B/ fesk ;h< 
 2H spbk Gkosh ;ki j? iK ftd/Ùh< 
 3H spb/ dh T[sgsh fejV/ ;ki s'A j'Jh j?A< 
 4H spb/ B{z j'o fejV/ BK Bkb ikfDnk iKdk j?< 
 5H spb/ d/ e'Jh d' GkrK d/ Bkw fby'. 
 6H T[;skd ekdo pyÙ dk iBw ed'A s/ feZE/ j'fJnK< 
 7H T[Zsoh ;zzrhs gZXsh dh fejV/ ;zrhseko B/ ouBk ehsh ;h< 
 8H skb ftZu ;w B{z fbyD bJh fejVk fuzB bkfJnk iKdk j?. 
 9H 10 wksok dh skb dk BK fby'.      
 10H ;G s' Xhwh ubD tkbh b?n B{z eh fejk iKdk j? <     10%1&1010%1&1010%1&1010%1&10  
GkrGkrGkrGkr----II 5 ;zy/gkswe (Short Answer Type) gqÙB g[ZS/ ikDr/ jo gqÙB 4 nzek dk j't/rk. fJBQK gqÙBK d/ T[Zso 10-
15 bkJhBk d/ j'D/ ukjhd/ jB. 
 11H ;w(ftÙw, nshs, nBkrs) 

12H ekfJdk 
 13H gbNk 
 14H ;k˜ fwbkT[D d/ fB:w fby'. 
 15H Brwk          5%4&205%4&205%4&205%4&20    
GkrGkrGkrGkr---- fBpzXkswe(Essay Type) gqÙB nzdo{Bh S'N d/ e/ gZ[S/ ikDr/. fJj gqÙB 10-10 nzek d/ j'Dr/. 
 16H spb/ dk ;zy/g fJfsjk; fby'. 
   iK 
  skb dk rkfJB, tkdB s/ BfoZs Bkb eh ;pzX j?.    10101010    
 17H fszB skb dh mkj d[rD fby'. 
   iK 
  T[;skd ekdo pyÙ dh ihtBh fby'.      10101010            


